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MNOTES: " l
» The OUTSIDE ofthe bracketsde e\Pdat nstu‘n" l O
s The INSIDE of th what happ?n:@
o If it's OUTSIDE, thefindd swhat the equationssdyse 5 +d it will +4 on axis

¢ [fit's INSIDE, the line doesthe opposite of what the equation sayse.g. if it says+4 it will -4
# The HIGHER the number befare x (gradient), the steeperand more “squeezedtogether” the

curve is (nearer to the y axis) 'j ‘ || |I

* The LOWERthe number before x (gradient), the lessstee per and more “spread ocut” the curve

is (further away from the v axis) ‘ ;

¢ 5o the numberbefore x onagraph determines howwide the curve is

* Theyinterceptonagraph determineswhether itscurve goesup or down

Linear Quadratic Cubic Reciprocal

* The negative version of a positive line equation iswhen the number before x isnegative. It is
the same asthe positive but FLIPPED OVER THE Y AXIS. The line y=(x)* looksexactly the same
as the line y=(-x)* because the y axis bisectsthe curve in half so the curve issymmetrical both
sides. Therefore reflecting it in the vy axis doesn’t move the curve which meansit stays the
ame.




